EARAROBEEIERT — 2 N— IBISH —F

2016574108 (B) 2E{E54H

POl o R 2 KB (GRE) [EE] B

‘ [R1%] & ‘ [REBE] — | Z (&) 12000 B

=]
[~&%] 1 % :5,000,000  ~ 2 3#:2,000,000  ~ 3 3#:1,300,000 1

/47 1750,000 F 5 7& 500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e = .= FBEXR :10. — . . FIREX (ERH)
11718 NyE—5>5> 4 2 oy 1(1_0)6 3-3 35.1| 84.2 | 2 (115132) %tgzae
R:T—U74+—Z B:NhyE—-F> =Y Tr—L
: S 2 | WNEE= 1:10. 2-2 4|84 | 1 420 |BMEZ (FH)
2|55 | FA1FEZ—=3FI “ 54.0 m%? %48 (_20) (B) INT7—~L
Z:arFafdy b BANVITFry b ST 7—L
S N — _ 4 o2 | EHE 1:11.2 3-3 35.7| 77.9 | 3 440 | AEB (EH)
EH o | Ay T 2IN=bF 54.0 (3 1/2) (o) | KBET
L7272 48 B:Y I R7A=F+1 Gke]
4t 2 | KEHRN 1:11.6 8-7 35.4| 74.0 | 7 452 | EESEMME (KH)
41|1|RIAF 8 8.0 (2 1/2) o | XK
Ry —3UTL BieMHIIXE SLaAYTT— L
L o — o2 | AEGHE 1:11.8 5-5 36.0| 72.0 | 6 390 | FREEERE (M)
5177 | ¥TIE1L—% A51.0 (1 1/4) (-q) |FHE
R:A— K774~ B:eOa7r7>89— KT 7 — L
> S i 2 | AIBIEA 1:12.0 1-1 36.8| 70.7 | 10 | 436 |7THRE (E#&)
EH 3 73y aOR m] %¢53.0 (1 1/4) +2) LT
R —LTv—=— B A FAH HiE  ERA
> s 2 | AIEDHR 1:12.2 7-5 36.3| 68.2 | 9 M0 | AZHERR (EH)
71819 H—=)—=v—Ib A51.0 (' 1/4) (+4) H.FAnssoCiation
LA Lk—L B:A>T71Tv—) EES S
S “ B 2 | BEREZ 1:13.2 9-8 36.6| 58.8 | 4 452 | BEEEZ (FH)
8 6| A/ —K—FV 5.0 (6) (cay | ) INT7—L
L4 0 B:I7IOyF HEKE
= - 4 2 | JIEHEBES 1:16.7 9-10 40.1] 349 | 5 426 | REHE— (i)
9 4| 7T AT4TT—=I 54.0 (21 4%) (+4) | EAFFEEAER
L:xrindaO— BiILTxT—) L EFEHRS
N o2 | BEREA 1:32.8 5-8 57.0| — 8 446 | BREE (FH)
10810 * I~ o8l (214) e |PEE
RL:Z27)—>kb—A— B:3tXbYvay B BE
@ 21 L
E») 47.1-35.4
NO>24 L | 12.3-11.2-11.7-12.0-11.4-12.0
@ I—F—@EBIERL
13—7-
23—7F—
3a—+— (¥3,5) (2,8) (10,7)9,1-(4,6)
41—7— (x3,5) (2,8)-(9,7)1=(10,6) -4
0 IR
B R 8 2400 | | 71 K 5-8 1O | | # &= 5-7 140 | | =R 2-5-8 370
# B 8 110 2-8 270 B E 6 140M EE 8-5-2 1,030
5 110 2-5 260M B H 8-5 290M
2 1609

ABICOVWTRDTEEERROODE. TR LIV,




